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1a) X = 10 1011b = 2Bh = 32+8+2+1 = 43d   

2   B

    Y = 1010 0010 1011b = 10*256 + 2*16 + 11 = 2603d
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   Z :   60  16               Z = 3Ch  = 11 1100b
         12  3  16        
    C        3  0
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1b)    101011
      +111100
      1100111

1 1 1c)  101000101011  101011
     -101011       111100
      1001100
      -101011
       1000011
       -101011
         110000
        -101011
            10111

1d) en binaire, diviser par 4
    = décaler la virgule 2 fois
    donc X/4 = 1010,1100b = A,Ch

A    C

2) f = abcd + (ab+ab)d + ad + abc

       abcd + abd + abd + ad + abc

         ab
     00 01 11 10
  00  1  1  0  1
  01  1  1  0  0
  11  1  1  0  0
  10  1  1  0  1

cd
f=a + bd

a

b
d
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3) remarque :
= =

bc

d = bca = b + c + a 

e = (bca)c   = bca = b + c + a = e
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on obtient donc :
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